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Stoichiometry & Solutions 

Consider the titration of 
20.0 mL of a sulfuric acid 
solution with a 0.127 M 
solution of NaOH.  If 32.66 
mL of NaOH is required to 
reach the endpoint, what is 
the concentration of the  
H2SO4 solution? 
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  Phenolphthalein is a good indicator when titrating an acid with 
a strong base. 

  It is clear in acidic and neutral solutions, but is pink when 
there is a slight excess of base. 

Example:  
What is the molar mass of an acid if a 0.363-g 
sample of the triprotic acid requires 23.44 mL of a 
0.135 M NaOH solution? 

Example:  
 A solution of HCl was standardized using solid 
sodium carbonate as a primary standard.   

 A 0.5271-g sample of sodium carbonate was massed 
out, dissolved in ~ 25 mL of water and titrated with 
the HCl solution.  The endpoint was reached with the 
addition of 34.73 mL of the solution.   

 What is [HCl] ? 


